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RANIGANJ LIONS J.D.M.C. D.A.V PUBLIC SCHOOL, RANIGANJ.W.B. 

HOLIDAY HOMEWORK SESSION 2025 - 26  

CLASS :     VII 

SL. NO. SUBJECT HOMEWORK 

 

1. 

 

ENGLISH To be done in English Classwork notebook. 

1. ‘Freedom is more important than material comforts and luxuries.’ 

Write a letter to your friend highlighting the importance of freedom 

for every living being. 

2. Complete the paragraph with appropriate articles: 

_______ Poor man lived in ______ village. He worked hard day and 

night. One day _______old wise man came to his house.  ________ 

man gave him _______ magic ring. He told him to rub _______ ring 

whenever he wanted money and use it for helping the needy. 

3. Frame four different types of sentences with the following picture 

clue: (Assertive, Interrogative, Imperative, Exclamatory) 

                                                 

4. (a) What did the birdie prefer to golden cup, dish of silver fret, 

ivory seat and soft carpet? Mention the reason for this preference. 

   (b) ‘Swami didn’t like the strain of cruelty he saw in his father’s 

nature.’ Do you think Swami’s father was actually cruel in nature? 

Give reasons for your answer. 

5. Activity   :  To be done in A4 size chart paper. 

Prepare a comic strip on ‘Monkey Trouble’.  

[Hints: Draw and colour the pictures of the characters and frame 

dialogues.] 

 

2. 

 

HINDI 
1. नीचे दिए गए चचत्रों को िेखकर संयुक्त व्यंजन वाले शब्िों को     
  चलखखए। 
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2. नीचे दिए गए चचत्रों को िेखकर उचचत मुहावरे चलखखए तथा उन   
   मुहावरों का वाक्यों में प्रयोग कीखजए। 

 
3. ‘एक वर्ष में महीनों का क्रम बिलने से वातावरण बिल जाता है।’   
  ‘बारहमासा’ कववता के आधार पर 40-45 शब्िों में स्पष्ट कीखजए। 
4. राकेश ने वबगड़ते नाटक को अपनी बुद चधमानी से संभाला। आप  
   यदि राकेश के स्थान पर होते तो नाटक को दकस प्रकार  
   संभालते? 30-35 शब्िों में चलखखए। 
5. नीचे दिए गए चचत्रों को िेखकर एक उचचत शीर्षक िेते हुए 80  
   शब्िों में एक अनुच्छेि चलखखए। 

6. अनुस्वार तथा अनुनाचसक-चचह न वाले कोई पााँच-पााँच शब्ि  
   पुष्प-आरेख (Flower Grid) के माध्यम से िशाषते हुए चलखखए  
   और उनसे संबंचधत चचत्र बनाइए अथवा चचपकाइए। (गचतववचध) 
नोट : • प्रश्न एक से लेकर पााँच तक के उत् तर अपनी दहंिी की  
       उत् तर-पुखस्तका में चलखखए। 
    • छठा प्रश्न गचतववचध है। उसे A-4 साइज़ रंगीन पेपर पर 
      कीखजए।   

 

3. 

 

BENGALI 

1. প্রদত্ত প্রশ্নগুলির সঠিক লিকল্প উত্তরঠি বিছে বিছ ো:  

To be done in Bengali Classwork notebook. 

  

ক) মন্তব্য: পঞ্চাশ ব্ছর পূর্ব্ে দার্মাদর নদীর অপর পার্ে নন্দীপরু ও   

    গগাোঁসাইগঞ্জ নামক পাশাপাশশ দটুি গ্রাম শছল। 

    যশুি: এখন অজর্ের ব্নযা গস সমস্ত গ্রাম ভাশসর্ে শনর্ে গগর্ছ।   

i) মন্তব্য ঠিক, যশুি ভুল             iii) মন্তব্য ও যশুি উভেই ঠিক  

ii) মন্তব্য ভুল, যশুি ঠিক             iv) মন্তব্য ও যশুি উভেই ভুল  

খ) মন্তব্য: কলকাতা গের্ক হীরদুত্ত প্রচুর গসর্লট, গপশিল, গেশলিং ব্কু শকর্ন এর্নশছর্লন।  

    যশুি: পাঠাশালার প্রশত ছাত্রগর্ের উৎসাহ ব্শৃির জনয।   

i) মন্তব্য ঠিক, যশুি ভুল             iii) মন্তব্য ও যশুি উভেই ঠিক  

ii) মন্তব্য ভুল, যশুি ঠিক             iv) মন্তব্য ও যশুি উভেই ভুল  

 

গ) মন্তব্য: জীব্র্ন শশর্রামশেমশাে যত ঠাণ্ডা জল গখর্ের্ছন তা এইব্ার এর্ক এর্ক তাোঁর মর্ন আসর্ত লাগল।  

   যশুি: জ্জযষ্ঠ মার্সর গরৌর্ে পে চলর্ত শগর্ে অসহয শপপাসাে মাধব্ শশর্রামশের প্রাে গব্শরর্ে যাওোর উপক্রম হর্ল।  

i) মন্তব্য ঠিক, যশুি ভুল           iii) মন্তব্য ও যশুি উভেই ঠিক  

ii) মন্তব্য ভুল, যশুি ঠিক           iv) মন্তব্য ও যশুি উভেই ভুল  

ঘ) পর্দর গশর্ে অব্শিত স্বরব্র্েের পর ‘ছ’ োকর্ল গসই িার্ন ‘চ্ছ’ হে। এই সূত্রানসুার্র গকান্ সশিটি ঠিক –  

i) তর+ুছাো     ii) উৎ+ছল      iii) উৎ+চারে       iv) উৎ+গছদ  

 

ঙ) প্রর্োজনমত সশি যিু ও শব্র্চ্ছদ কর:  
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রশব্চ্ছশব্, ব্াক্ + আেম্বর, চলচ্ছশি, মনৃ্মে, উৎ + গযাগ  

 

2. নীর্চর প্রশ্নগশুলর যোযে উত্তর দাও।  

ক) ‘মাস্টার মহাশর্ের মরু্খ এইরূপ কোব্াতে া শশুনো এব্িং তাোঁহার ইিংর্রশজোনা চালচলন গদশখো গ্রার্মর গলাক 

এর্কব্ার্র গমাশহত হইো গগল।’ – গয মাস্টার মশার্ের সম্পর্কে  একো ব্লা হর্ের্ছ তার নাম গলর্খা এব্িং তার প্রশত 

গ্রার্মর গলার্কর গমাশহত হওোর কারে উর্েখ কর্রা।  

খ) ‘জলসত্র’ গর্ে কীভার্ব্ তারাচাোঁর্দর গছার্টার্ব্ার্নর মতুৃয হর্েশছল? 

 

PROJECT WORK:  

3. ব োমোছদর পোিয ‘জিসত্র’ গছল্পর লিষয়িস্তু অিিম্বন কছর একঠি 

মছেি প্রস্তু  কর।          

 

4. 

 

MATHS 
1 . Compare the absolute values of the rational numbers:   

−𝟕

𝟗
,

𝟑

−𝟐
  . 

2. Simplify: 
−𝟏𝟏

𝟑𝟎
−

𝟏𝟑

𝟏𝟓
+

𝟕

𝟔
+

−𝟑

𝟓
 . 

3. On a number line, what is the length of the line segment joining 

−
𝟏

𝟐
  and −𝟓

𝟏

𝟐
 . 

4. Arrange the following rational numbers in descending order: 
−𝟑

𝟏𝟎
 ,

−𝟕

−𝟓
 ,

𝟕

−𝟏𝟓
 ,

𝟖

𝟑𝟎
 . 

5. Find three rational numbers between 
−𝟏𝟒

𝟑
 and 

−𝟐𝟗

𝟑
 . 

6. ASSOCIATIVE PROPERTY OF SUBTRACTION : If X,Y and Z 

are non-zero rational numbers, then, in general (𝑿 − 𝒀) − 𝒁 ≠  𝑿 −

(𝒀 − 𝒁) , i.e. the associative property does not hold true for 

subtraction. 

 For the values of 𝑿 =
−𝟑

𝟒
 , 𝒀 =

𝟓

𝟑
 , 𝒁 = −𝟕   , verify this associative 

property of subtraction 

7. From a rope of the length 40 metres, a man cuts some equal sized 

pieces. How many pieces can be cut if each pieces is 
𝟐

𝟏𝟏
 metres 

length? 

ACTIVITY WORK: VERIFY DISTRIBUTIVE PROPERTY OF 

WHOLE NUMBERS GEOMETRICALLY. 

 

 

5. 

 

SCIENCE  1.      Bread mould is a : 

(a) Parasite (b) Autotroph (c) Saprotroph (d) Insectivorous  

2.      The solar energy for photosynthesis is trapped by X. Identify X- 

(a)    Carbon di oxide (b) Water (c) Chlorophyll (d) Nitrogen 



Page 4 of 8 
 

3.      The image formed by a convex mirror is always: 

(a) virtual, erect, and smaller than the object 

(b) virtual, inverted, and smaller than the object 

(c) real, inverted, and larger than the object 

(d) real, erect, and smaller than the object 

        

In each of the following questions, a statement of Assertion (A) is 

followed by a statement of Reason (R). While answering these 

questions, choose the correct one and mark it as – 

(a)    If both Assertion (A) and Reason (R) are true and Reason(R) is 

the correct explanation of the  Assertion (A). 

(b)   If both Assertion (A) and Reason (R) are true but Reason(R) is 

not the correct explanation of the Assertion (A). 

(c) If Assertion (A) is true and Reason (R) is false. 

(d) If Assertion (A) is false and Reason (R) is true.  

4.      Assertion: A plane mirror always produces a virtual image. 

Reason: The image formed by a plane mirror is formed by the 

apparent intersection of reflected rays, which cannot be projected 

onto a screen. 

5.      Assertion (A) : Plants convert light energy into chemical energy 

during the process of photosynthesis. 

Reason (R) : The sugar produced by the plants is used as a source of 

energy by human. 

6.      Explain the difference between real and virtual images. 

7.      Draw a diagram to show the reflection of light from a plane 

mirror. Label the incident ray, reflected ray, angle of incidence, and 

angle of reflection. 

8.      It is rainy season. Rohan is upset that his shoes are spoilt as he 

saw white patches on them. Are the shoes really spoilt? Justify. 

9.      If vessels are absent in plants what will happen? “Nutrition is 

important for living organisms” - Justify. 

Note : All the answers to be done in science notebook.    
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PROJECT: Prepare a Kaleidoscope (Chapter: Light, Topic: Multiple 

reflection).  

 

6. 

 

SOCIAL 

SCIENCE 

  

Activity: 

‘Wall of Democracy ‘ 

On the A-4 size paper draw a Cartoon with Slogan related to 

Right to  

Vote. 

Answer the following questions: 

1. Create a Concept Map to illustrate the components of 

environment. 

2. Differentiate between soil erosion and soil deposition. 

3. The government has launched number of poverty alleviation 

programmes  and income generating programmes.  But still 

poverty continues. Give two reasons.  

4. Complete the following table with suitable examples of 

different literary sources  to understand the history of Medieval 

Period . 

 

Religious  Non Religious  Historical  Travel Account  

    

 

5. Complete the comparative table as per the following format 

about the North Indian Kingdom.  

 

Kingdom  Name of the 
Founder  

Great Rular  Famous art and 
architecture  

    

    

 

6. Mention at least one feature formed by the river when it passes 

through different stages in its course with suitable  diagram. 

 

Note : All the answer be done in social science notebook.  

 

7. SANSKRIT 

गचतववचधिः - वकृ्ािः अस्माकं दकं दकं यच्छखतत इत्यखस्मन ्ववर्ये 
सचचत्रं पञ्च वाक्याचन चलखततु। (On the A4 size paper) 

1. प्रित्तिः गद्ांशं पदठत्वा प्रश्नानां उत्तराखण चलखत - 

कखित ्बालिः आसीत।् सिः बङ्गप्रिेशे एकखस्मन ्ववद्ालये पठचत स्म । 

सिः अतीव खजज्ञासुिः आसीत।् परततु सिः पठन ेकुशलिः न आसीत।् सिः 
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यत ्पठचत तत ्ववस्मरचत स्म । सहपादठनिः तस्य उपहासं कुवषखतत स्म। 
सिः चचततयचत—दकम ्अहं मूखषिः अखस्म ? दकं मम भाग्ये ववद्ा न अखस्त 

? परततु अहं तु पदठतुम ्इच्छाचम। तिा दकं कतषव्यम?् एकिा सिः मागे 
एकं कूपम ्अपश्यत।् कूपस्य उपरर एकिः घटिः आसीत ्। सिः घटस्य अधिः 
एकं गतषम ्अपश्यत ्। सिः अचचततयत–्इमं सुतिरं गतष किः चनचमषतवान?् 

सिः मातरम ्अपचृ्छत-्मातिः ! अहं कूपे घटस्य अधिः एकं गतषम ्अपश्यम ्

। तं गतषम ्किः चनचमषतवान?् माता अवित ्– पुत्र ! प्रचतदिनं भूयो भूयिः 
घट-स्थापनेन सिः गतषिः चनचमषतिः । 

 I. एकपिेन उत्तरत-                                          

(क) बालकस्य उपहासं के कुवषखतत स्म? 

(ख) किः अतीव खजज्ञासुिः आसीत?् 

II. पूणषवाक्येन उत्तरत –                                                   

(क) उपहासकारणात ्बालकिः दकम ्अचचततयत?् 

(ख) माता दकम ्उत्तरत ्अयच्छत?् 

III. यथाचनिेशम ्उत्तरत –                                              

(क) सिः अतीव खजज्ञासुिः आसीत।् - अखस्मन ् वाक्ये दक्रयापिं दकम ्

अखस्त? 

अ) खजज्ञासुिः      ब) सिः      स) आसीत ्      ि) अतीव 

(ख) अहं कूपे घटस्य अधिः एकं गतषम ्अपश्यम ्। - अत्र कतृषपिं दकम ्

अखस्त? 

अ) गतषम ्        ब) अपश्यम ्      स) कूपे      ि) अहं 

2. स्थूलपिमाधतृ्य प्रश्नचनमाषणं कुवषततु –                            

क) सहपादठनिः तस्य उपहासं कुवषखतत स्म। 

ख) कूपस्य उपरर एकिः घटिः आसीत ्। 
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ग) एकिा सिः मागे एकं कूपम ्अपश्यत।् 

3. अधोचलखखतवाक्येर्ु उपसग ंसंयोज्य ववभज्य वा चलखततु -                                

 क) सहपादठनिः तस्य उपहासं कुवषखतत स्म। 

 ख) सिः यत ्पठचत तत ्वव+स्मरचत स्म। 

ग) गङ्गा दहमालयात ्चनस्सरचत । 

4. मञ्जूर्ातिः अव्ययपिं चचत्वा ररक्तस्थानाचन पूरयततु –                                                         

 क) …………….. अहं पठाचम। 

ख) ……………… राहुलिः कचलकाता ंअगच्छत।् 

ग) ………………. ववृष्टिः भववष्यचत। 

मञ्जुर्ा - (श्विः, अधुना, ह्यिः) 

5. ववकल्पेभ्यिः उचचत-धातुरूपैिः ररक्तस्थानाचन पूरयततु –                                                   

 क) वय ं.................।  (चलखाचम/ चलखाविः/ चलखामिः) 

 ख) राहुलिः उद्ान ं............। ( गच्छखतत/ गच्छचस/ गच्छचत) 

 ग)  अद् ववृष्टिः ..................। ( भववष्यखतत/ भववष्यचत/ अभवत)्  

6. मञ्जूर्ातिः उचचतं ववपरीपिं चचत्वा मेलनं कुवषततु -                                                     

 क) अधिः 

 ख) ववस्मरचत 

 ग) मूखषिः 

मञ्जुर्ा - (बुविमान,् उपरर, स्मरचत) 

NOTE:- ग्रीष्मावकाशस्य सवाषखण उत्तराखण संस्कृत-

अभ्यासपुखस्तकायाम ्एव कुवषततु। 
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******************************* 

 


